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Ayestion 1

ot yet answered
Marked out of 1.00

60 0009300900 9360689 J390Mmm dME9dPMmo 3O MaModol BGMOaadgbhol gty gdol 390wHa?
int n=12;

double a[]={14,6,7,-1,13,10,10,10,-14,-14,-15,-1};

double s=0;

for (int i=0; i<n; i++)

s=s+ali];

cout <<s;

Answer:
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Question 2

Not yet answered
Marked out of 1.00

Mol 3odMmomgmol 3rmamodol 399930 NMogdgbdho
int a[10]; int i,s=0,p=1;
for(i=1;i<10;i++)
cin>>ali];
for(i=0;i<10;i++)
if(a[i]>0) p=p*ali;
else s=s+alil;
Select one:
(O a. adobogolb EoEgdomo Bgz@mgool BodMOZML o Yomymaxomo Bgzmgdol Foab

(O b. adobogolb 693¢900L Fo3L o bodMogmL
(O c. adobogol oEydomo 693Mgool  Fo3L o ohymaomo 6gghgool bodmogml

Question 3

Not yet answered
Marked out of 1.00

000096 d00¢hL 0303900 dobogo int cxrili [2][3] (16 dohoobo 3Mm330HaMobmagol) :

Select one:
Oa. 6
O b. 24
Oc 12
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Question 4

Not yet answered
Marked out of 1.00

ol oL YOL 3 MgModol 993Y30 RGMII6HO
float a[10][10] ; int ij;

for(i=0;i<10;i++)

for(j=0;j<10;j++)

cin>>afi][j;

Select one:
O a. 8oHmoEoL godmbobol doh®moEol m&®dom

O b. 06@gdbgdol godmbobol
(O €. BopmoEoLb dghobol
O d. 3oHMoEoL godmbobol (9Gm LH®odmbado)
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Question 5

Not yet answered
Marked out of 1.00

Mol oMY YOL 3OrMEMOd0L 39330 NMOIgbH0
float a[10][10];int i,j,n=0;

for(i=0;i<10;i++)

for(j=0;j<10;j++)

cin>>afi][j];

for(i=0;i<10;i++)

for(j=0;j<10;j++)

if(alilljl==0) n=n+1;

003mOoU:

Select one:

O a. dopMoEol bymmgobo gemgdgbhgdol Hombmosl
O b. 8opMoEoL g9m9dgbhgool GomEgbmool
O €. BH®0E0L Jomygmxomo gmgdgbhgool Gom@gbmool
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Question 6

Not yet answered
Marked out of 1.00

9399mm BOMM3MOM™Mogob, HMAgmos §gddodmoho?

Select one:
O a. 3300M0hIm 3oh®™0Eed0 3003060 00gMmbamol 3gdmm o®IdYmMo 6900L809M0 gmgdgbhol LHGogmbol 0bgduo bogzmgdns ob
Bmmo 08039 919dgbhob b3aholb 0bogdudy

O b, 3300Mohym 30HG03E030 3MoZ306M0 0dgMbomol 89dmm dMLYOYMO bgdoldog®mo gmadgbhol LhModmbol nbogdbo dghoo 03039
99896¢h0b L3ghob 0bEgdLdy

O €. 3390Mohym 30dHH0E0d0 3mog3o®m0 oogmbomol 8gdmm oMmLYoymo bgoolbdog®mo gmadgbhol LhModmbol 0bogdbo Bozmgdno 08039
9939600 b3gHOL 0bEgJLBY

O d. 330MOHIM FoHM0E30 83003060 E03MbOL 830Mm GO 6900L80gH0 Jemgdgbhol LH®ogdmbol 0bggdLo 08039 9emgdgbhoL
L39Ol 0bgJLOL oo

Question 7

Not yet answered
Marked out of 1.00

OHMam®mo hodoboo BYbJEno, My Aol EobodMYbgdgmo 3603369emMM0O0L Hodo oMo 0g3l Jomomgdymo?

Select one:
O a. void

O b. int
O ¢. bobhodbymo dgzEmBoo

(O d. double

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=34303&cmid=2225 5/21



2/3/22,12:43 PM 609wdo 2

Question 8

Not yet answered
Marked out of 1.00

6HM3gEM00 deMmm 3ol 30gb0m oMmBYMH0MO (33eMmaEol dmgdgogdol oMy:
Select one or more:
() a. 9b 6gm30 3obdo RoEadymo Jggomm3agdol gomgdy
() b. 00 omBgdol 99(339em0 0CMM30
() . (3300l oMmBgmhoEob demm3nl ododmoghgdogm doMmy3gbo aMAbomodwyg
() d. 439emo ob @ybgdsoo, MMBgMToE 9b 33eoEoS odmygbgoygmo

Question 9

Not yet answered
Marked out of 1.00

o H030L IMboEgaL 0dMYBOL Jg39dmm dmEgdnmo 3Mmbmibodol dgbododolo iybdisne?
int func(char x, float v, double t);

Select one:

(O a. char
O b. int

(O c. double
O d. float

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=34303&cmid=2225
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Question 10

Not yet answered
Marked out of 1.00

60 3900930 00093900 93M0bdg 3MrMa™modol 89389a0 NGMgIgbhol gbemymgdol 898937

int my_abs(int);
int main() {

int y=5;

cout<< my_abs(y);
getch();

return O;

}

int my_abs(int x){
if(x >= 0) return x;
return -x;

}

Select one:
O a. true

O b. Lobhogduymo gmado
Oec 5
Od -5
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Question 11

Not yet answered
Marked out of 1.00

dm393mo00 @Ybdioe my_pow ®M3gmbos 0d3L bobg:

float my_pow(float x, int n) {
floatd = 1; int i;
if(n == 0) return 1;
else if(n>0) {
for(i=1;i<=n;i++)
d*=x;
return d;

}

else
for(i=-1;i>=n;i-) {
d *=1/x;

return d;

}
6o 3603369mMd0l Joomgdl p (330 My dobo godmdobgdo 3Mmg™modado bpgdo 393YabootMo:

float p= my_pow(3,2);

Answer:
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Question 12

Not yet answered
Marked out of 1.00

ol godmodobl 3990980 3rmgModo:

double m(double x, double y);

void main()

{
double a=7, b=3.5, c=2.5, d=9;
cout << m(m(a,b), m(c,d))<<endl;
system (“pause”);

}
double m(double x, double y)
{
return y>x ? y: x;
}
Select one:
O a. 35
Ob 2
Oec 25
Od 9

O e. ®obggool 3odLb
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Question 13

Not yet answered
Marked out of 1.00

6o 00930900 3990930 RMO’3x6H0L Bgltymgdol dggaoc:

int main(){
f10);

}
void f1() {

int a;
for(a=1; a<30; a+=2)
cout<<a<<end!;
}
Select one:
O a. mybo Hogbggdo 1-ob 30-0¢y;

O b. g3gmo Gopbgo 1-06 30-dy;
O ¢ 3960 GoEbggdo 1-ob 30-3wy;

O d. 3-0b FgMoEo MoEbggdo 1-ob 30-0y;

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=34303&cmid=2225
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Question 14

Not yet answered
Marked out of 1.00

6o 3603369mMd0l Joomgdl n 399930 RMO’3g6H0L dgldmynmgdol dgggao:

int main(){
int k=7, n;
n =square(k);
}

int square(int a){
return a*a;

}

Select one:

O a. 35
O b. 17
O c 49

Od 7
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Question 15

Not yet answered
Marked out of 1.00

@QYbg30o 0mzgmol bodaomo MoEbzomo hodol dobogol 03 9gemgdgbhgdol FodlL, MmAgmmo 0bgdbgdo 033 gdo p-Eob g-deyg (0gymolbdgdo, Mm™mA3 p<m
©0 g<m).6Mm39em0o 3Mdobgoom 8godmgdo dmEgdnmo a3nbgdiaool godmdobgdo?
const int m =5;

float sum(float [],int , int);

int main()

{

float mass[m]; int i,p,q;

float rez;

for (i=0;i<m;i++) cin>>massli;

cout<<"p?q?";

cin>>p>>q;

float sum(float a[],int p1,int g1
int k; float s =0;
for(k=p1; k<=q1; k++)
s +=alk];
return s;

}

Select one:
O a. rez =sum(mass[],p,q);

(

O b. rez=sum(a[],p,q);

(O €. rez=sum(mass,p,q);
(

O d. rez=sum(a,p,q);
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Question 16

Not yet answered
Marked out of 1.00

6ol 00M1bgoL 399930 RBYbI300:
double S(double a[], int N)
{ double sum=0;
for (int i=1; i<N; i+=2)
sum+=a[i;
return sum;
}
Select one:
O a. mybobggdbgdoobo ogoom 6gg3cmgdol Foal;

O b. 396h0bgdbgdoobo @oEgdom Bgztgdol Fodl;

O €. Y439mo MoEbgol FodL
O d. 396h0bgdbgdoobo Bgztgdol $oaU;
O e. mybobogdbgdnobo Bgghgool Fodl;
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Question 17

Not yet answered
Marked out of 1.00

6o 30009do 8980930 BGMadgb¢ol dgbtyemgool gEgaoE?
const int N=5;

void printArray(int a[N]);

int main(){

int mass[N]={10,-1,5,7,2};

printArray(mass);

}
void printArray(int a[]){

inti;
for(i=0; i<N; i++)
cout<< a[i]<<” %
}
Select one:
Oa. 275-110

Ob. 10-1572
Oc 1052
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Question 18

Not yet answered
Marked out of 1.00

MO 000940900 IMEYTNMO RGMadgbdHoL gbdmynemgdol 3ggaoE?
intn=179;

int *p;

p = &n;

cout<<*p;

Answer:

Question 19

Not yet answered
Marked out of 1.00

33093L int b[3] ={ 2, 4, 6 }, *bPtr=b; Gm3dgmo m3gMmodhmmo dmga3zgal dgEEmaol?
Select one:
O a. b++;

O b. bPtr=3&b[0];
(O C. DbPtr++;
O d. bPtr=Db+1;

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=34303&cmid=2225 15/21



2/3/22,12:43 PM 609wdo 2

Question 20

Not yet answered
Marked out of 1.00

Mo 3900936 godmotobl d93Yan 3 MazMmodo:
void swap (int *, int *);
int main(){

int a=15, b=25;

swap(&a, &b);

cout<<a<<b;

}
void swap (int *x, int *y{
int dam;
dam = *x;
*X = *y,
*y = dam;
}

Select one:
O a. 3Gmamods oM 039303900;

O b. -15-25
Oc 2515
O d. 1525
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Question 21

Not yet answered
Marked out of 1.00

dmE93Pm00 (33000900l dobodotmmgdo: &a=63384,&b=64390,&c=64400. Mo 39093l 30dM0¢obl 3tMmgMmodo 32-00¢0060
3™M3309hgMgooLmgol (int - 0303906 4 d000L, float 0303900 - 4 do0hl, double - 8 do0hL ) :
int main()
{
float a,*p1;
int b,*p2;
double c,*p3;
a=2.5; b=3; c=2.96;
p1=&a; p2=8&b; p3=&c;
p1++; p2++; p3++;
cout<<’p1="<<p1<<” p2="<<p2<<” p3="<<p3;
}
Select one:
O a. p1=63388 p2=64394 p3=64404

(O b. p1=3.5 p2=4 p3=B
O €. 06OEIO®MO 3obhbo oM dMmol LEm®O

(O d. p1=63388 p2=64394 p3=64408
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Question 22

Not yet answered
Marked out of 1.00

MO 000980900 3MMa™madol dgLtymgdol 393Ya:

#include <iostream>
using namespace std;
int main()

{
int *p, x=5;
p=8&Xx;
cout<<++(*p);
system("pause");
return O;

Select one:
Oa 7
O b. xE3moEoL dobodo®mo

Oec 5
O d. 3m330moE0ol dgmaos

Oe 6
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Question 23

Not yet answered
Marked out of 1.00

30300m90OMol MHMAGEMO dMBIMHO LEME®0S?

Select one:

O a. intx;

O b. ptrx;

O c. int*x;

O d. int&x;
Question 24

Not yet answered
Marked out of 1.00

0m39979m00 bLAH®YIHPMO, HMIME odm303boEYIM 03 LHG®YIHIMOL Hodol X 33moEL?
struct rectangle{

float length;

float width;

%
Select one:
(O a. struct x rectangle;

(O b. struct rectangle;
(O c¢. struct rectangle x;

O d. struct x;
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Question 25

Not yet answered
Marked out of 1.00

LHGOYIHYOHO 0oL FMboEgdmo Hodo, HMAgEMA03

Select one:
O a. 9mwgdgbhgdo 890demgos ogmb Lbgoobbgo Hodol;

O b. gmgdgbhgoo gbwo 0gmb bmemmE MoEbzomo Hodob;
O €. 439mo 9emgdgbho gbo 0gmb gmmboo®o hodob;
O d. 939mo gemgdgbho ybo ogmb dbmmmo Hggdbha®mo dodob;

« »
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